
Practice: Understanding Factored Form – Day 2   Name: _________________________ 

 

1.   Given:  𝑓(𝑥) = (𝑥 − 2)(𝑥 + 4)     2.   Given:  𝑓(𝑥) = −3(𝑥 − 6)(𝑥 − 2) 

What is the 𝑎 value? ________________   What is the 𝑎 value? ________________ 

Which tells us what? ________________   Which tells us what? ________________ 

What are the zeros? ________________   What are the zeros? ________________ 

Find the AOS using the zeros: _________   Find the AOS using the zeros: _________ 

Find the Vertex: ___________________   Find the Vertex: ___________________ 

 

 

 

Try These: 

3.   Given:  𝑓(𝑥) = −16(𝑥 + 1)(𝑥 − 5)    4.   Given:  𝑓(𝑥) = (𝑥 + 7)(𝑥 + 4 

What is the 𝑎 value? ________________   What is the 𝑎 value? ________________ 

Which tells us what? ________________   Which tells us what? ________________ 

What are the zeros? ________________   What are the zeros? ________________ 

Find the AOS using the zeros: _________   Find the AOS using the zeros: _________ 

Find the Vertex: ___________________   Find the Vertex: ___________________ 

 

 

 

5.   Given:  𝑓(𝑥) = 2(𝑥 − 2)(𝑥 + 4)     6.   Given:  𝑓(𝑥) = (𝑥 − 6)(𝑥 − 2) 

What is the 𝑎 value? ________________   What is the 𝑎 value? ________________ 

Which tells us what? ________________   Which tells us what? ________________ 

What are the zeros? ________________   What are the zeros? ________________ 

Find the AOS using the zeros: _________   Find the AOS using the zeros: _________ 

Find the Vertex: ___________________   Find the Vertex: ___________________ 

  



Factored Form:  𝒂(𝒙 − 𝒓𝟏)(𝒙 − 𝒓𝟐) 

Sketch the following with Desmos separately.   

Determine the "𝑎" value for each and determine what the 𝑟 values represent? 
 

𝑓(𝑥) = 𝑥2 = 𝑥 ∙ 𝑥  𝑔(𝑥) = 𝑥(𝑥 − 2)  ℎ(𝑥) = (𝑥 + 4)𝑥  𝑦 = (𝑥 + 4)(𝑥 − 2) 

 

 

 

 

 

Sketch the following with Desmos separately.   

Determine the "𝑎" value for each and determine what the 𝑟 values represent? 
 

𝑓(𝑥) = −𝑥2  𝑔(𝑥) = −𝑥(𝑥 − 3)  ℎ(𝑥) = −(𝑥 + 7)𝑥  𝑦 = −(𝑥 + 7)(𝑥 − 3) 

 

 

 

 

Sketch the following without Desmos.  Determine the "𝑎" value and 𝑟 values. 

𝑓(𝑥) = 𝑥(𝑥 − 2)   𝑔(𝑥) = −2(𝑥 + 5)(𝑥 + 3)   ℎ(𝑥) = −
1

3
(𝑥 + 1)(𝑥 − 2) 

 

 

 

 

𝑘(𝑥) = 2(𝑥 + 4)(𝑥 − 2)     𝑗(𝑥) = −16𝑥(𝑥 − 12) 

 

 

 

 

What do you need to be careful of when finding the zeros or roots of quadratic function when written in 

factored form? 

 

If the factor is (𝑥 − 3), what is the zero or root of the function?  _________________ 


